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These questions are for use by Missouri State High School Activities Association members for conference competitions and independent tournaments. The Scholastic Bowl Company of Virginia, using tossups from Virginia High School League competition, writes them. 

There are 36 matches for this use. Each entity (conference or tournament) will be assigned matches for their competition. 

Users of these questions are allowed to distribute the rounds they have been assigned to the competing teams. Sharing these questions with teams not in that competition is not allowed but general discussion of the questions is permitted, as long as answers are not being shared. 
First period: 15 tossups
TOSSUP 1
FINE ARTS-Painting

Daniele da Volterra painted fig leaves over the nudes in it. The artist portrayed himself with his skin was displayed in St. Bartholemew’s hands. Located on the altar wall of the Sistine Chapel is what mural by Michelangelo portraying Christ’s second coming and His division of the quick and the dead?


ANSWER: The Last Judgment
TOSSUP 2
SOCIAL STUDIES-US history

Before this battle, medicine man Yellow Bird claimed to possess special shirts that would stop the white man’s bullets. It brought an end to the Ghost Dance movement and the Indian Wars, but was called a ‘massacre’ by Nelson Miles. Over 350 Lakota, the majority of whom were women and children, died during what event on December 29, 1890? 


ANSWER: Battle (or Massacre) of Wounded Knee (accept Wounded Knee Massacre)

TOSSUP 3
MATH-Geometry

The gamma function evaluated at one-half is equal to its square root.  Archimedes used 96-sided polygons to approximate the value of this irrational and transcendental number.  Name this Greek letter that represents the ratio of a circle’s circumference to its diameter and is approximately 3.14159.

ANSWER: pi
TOSSUP 4
MISCELLANEOUS-Pop culture

Around 1990, it offered an all-you-can-eat buffet called the ‘Superbar.’ In 1995, it bought out Tim Horton’s, a Canadian doughnut shop. In March 2007, it closed its initial location, which had opened in 1969, in Columbus, Ohio. It also eliminated the Frescata sandwiches and started a breakfast menu. The slogan ‘Where’s the beef?’ is associated with what fast-food chain that founder Dave Thomas named for his daughter? 


ANSWER: Wendy’s
TOSSUP 5
LITERATURE-World literature

This line starts a speech that ends, ‘And enterprises of great pitch and moment / With this regard their currents turn awry, / And lose the name of action.’’ It doesn’t really start a soliloquy, as Ophelia is also onstage, and Claudius and Polonius are also present, but hidden. Delivered in Act III, Scene I of Hamlet is a speech beginning with what ten words?


ANSWER: “To be or not to be, that is the question”

TOSSUP 6
MATH-Algebra

THIS IS A COMPUTATION QUESTION. Factor x squared plus 17x plus 60.

ANSWER: (x plus 5)(x plus 12) (can be said in either order)

TOSSUP 7
SCIENCE-Famous scientists

In the 1960s, he and Roger Penrose worked together to prove a set of singularity theorems. He lost a bet to Caltech professor Kip Thorne over the nature of black holes. Who is this author of The Universe in a Nutshell, Black Holes and Baby Universes and Other Essays, and A Brief History of Time? 


ANSWER: Stephen Hawking
TOSSUP 8
SOCIAL STUDIES-Geography

This river’s North Branch and South Branch meet at Green Spring in Hampshire County, West Virginia. The Chesapeake and Ohio Canal allows traffic to move around its Great Falls. Its tributaries include the Capacom, Anacostia, and Shenandoah Rivers. What river forms the boundary between Virginia and Washington, D.C.? 

ANSWER: Potomac River

TOSSUP 9
LITERATURE-Religion

Practitioners follow Zhen, Shan, and Ren, which translate to ‘truthfulness, compassion, and forbearance.’ It started in 1992 at a middle school in Changchun, where Li Hongzhi held the first classes. Its name means, ‘Practice of the Wheel of Law.’ In 1999, the Chinese government began a crackdown against what religious group?

ANSWER: Falun Gong or Falun Dafa
TOSSUP 10
SCIENCE-Geology

An alvar is a bed of this rock with little or no soil on top. The Portland stone used in many London buildings is this type of rock. Stalagmites and stalactites are made of the same chemical compound as this rock, and tend to form in caves made from it. What sedimentary rock, used to make cement, is made out of calcite? 


ANSWER: limestone
TOSSUP 11
SOCIAL STUDIES-World history 

He offered Caesar a diadem during the Lupercalia of 44 BC, but Caesar refused this. His final breach with Rome came with the Donations of Alexandria, an act which caused the Second Triumvirate to fall apart. The battle of Actium brought an end to the power of what lover of Cleopatra? 


ANSWER: Marcus Antonius or Marc Antony (Anthony)

TOSSUP 12
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. How many pints are in six gallons?

ANSWER: 48 pints

TOSSUP 13
SCIENCE-Biology

They are contained in the suborder Strepsirrhini and get their name from the Latin for “spirits of the night.”  Types of them include the ring-tailed and the pygmy mouse.  Name this type of endangered prosimian that is a close relative of the aye-aye and lives only on the island of Madagascar.

ANSWER: lemur
TOSSUP 14
LANGUAGE ARTS-Vocabulary

This word refers to the innermost and strongest tower of a castle. While working for this, it means working for food and lodging. When paired with “down,” it means to prevent from thriving. It goes with body parts in phrases such as “stiff upper lip,” “chin up,” “nose clean,” and “eyes peeled.” What word is most often a verb meaning to maintain or not lose something, such as money, influence, or power? 

ANSWER: keep
TOSSUP 15
LITERATURE-US literature

The Prefect of the Palace says that the title object has been stolen from the Queen’s private sitting room. Minister D blackmailed the Queen over the object, which he had hidden in plain sight in his hotel room. In what Edgar Allan Poe short story does C. Auguste Dupin recover the stolen correspondence?

ANSWER: “The Purloined Letter”
Second period: 10 toss-ups with 4-part bonuses
TOSSUP 16
MISCELLANEOUS-Classic pop culture

Charles Alderton invented this drink in Waco, Texas, in 1885, and named it for a resident of Rural Retreat, Virginia. 1930s advertising encouraged drinkers to have one at 10, 2, and 4. In the 1980s, it was taken private by a group that also bought Seven-Up. It actually doesn’t have a period in the name; that was dropped in the 1950s to ensure that people didn’t make any medical associations with it. What soft drink has 23 ingredients? 

ANSWER: Dr Pepper 

BONUS 16
FINE ARTS-Art

Identify these art materials.

A.
What is the name of the 1-millimeter sized pieces of plastic or glass painted sparkle when light falls upon them? 


ANSWER: glitter
B.
What type of paper made from Philippine hemp is used for children’s art classes and for making folders?


ANSWER: Manila
C.
It’s actually a small ink atomizer, and is used to make people disappear from a photograph, or to make a model look unrealistically attractive.


ANSWER: airbrush
D.
Egg yolk and pigment are mixed to produce the paints used in what type of paint used until 1500 AD?


ANSWER: tempera
TOSSUP 17
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. What is the probability of rolling a 3 on a fair pair of dice?

ANSWER: 1/18
BONUS 17
SOCIAL STUDIES-World history

Identify these powers behind European thrones.

A.
What Prussian, and later German, chancellor was called the ‘Iron Chancellor?’

ANSWER: Otto von Bismarck
B.
What Russian, a one-time lover of Catherine the Great, allegedly built fake villages to fool Catherine about the conditions of Crimean peasants?

ANSWER: Grigory Potemkin
C.
The Regency era occurred during the latter part of George III’s reign. What future King served as Regent during that era? 

ANSWER: George IV
D.
Who was the first Prime Minister of a unified Italy? 

ANSWER: Camilo Benso, conte (Count) di Cavour (accept either Benso or Cavour)
TOSSUP 18
LITERATURE-World literature

The first part of Michael Cunningham’s The Hours is about the writing of this book. Some critics regard it as a response to James Joyce’s Ulysses. It is based on ‘(BLANK) in Bond Street’ and ‘The Prime Minister,’ two short stories by the same author. Clarissa is preparing for a party in what novel by Virginia Woolf?

ANSWER: Mrs Dalloway

BONUS 18
SCIENCE-Physics

Answer these questions about forces.

A.
What adjective describes a force that operates on a mass in a non-inertial frame of reference?


ANSWER: pseudo or fictitious (accept word forms) or d’Alembert force

B.
What is the force that moves an object towards the axis of rotation, and is the opposite of a centrifugal force?


ANSWER: centripetal force
C.
Einstein was able to demonstrate that what fundamental force was fictitious? 


ANSWER: gravity
D.
While a Coriolis force affects objects in a uniformly rotating frame of reference, what fictitious force appears when the rate of rotation of a body changes?

ANSWER: Euler force
TOSSUP 19
SOCIAL STUDIES-US history

The damage caused by this scandal was resolved with the Treaty of Mortefontaine. As a result of this scandal, the Quasi-War was fought between 1798 and 1800. What 1797 scandal involved Charles Pinckney, Elbridge Gerry, and John Marshall, three American representatives to France? 


ANSWER: XYZ Affair

BONUS 19
LITERATURE-Mythology
Name these Norse gods.

A.
What mischief-god will lead the forces of Evil at Ragnarok?


ANSWER: Loki
B.
What blind god threw the spear of mistletoe that slew Balder the Beautiful?


ANSWER: Hodur or Hothur
C.
Who was the queen of the Aesir (ah-SEER) and wife of Odin?


ANSWER: Frigg
D.
What chief goddess of the Vanir (vah-NEER) received half of those slain in battle?


ANSWER: Freyja or Freya
TOSSUP 20
MATH-Algebra

THIS IS A COMPUTATION QUESTION. Solve for x and y.  5x minus 3y equals 11 and 8x plus 3y equals 41.

ANSWER: x equals 4 and y equals 3 (can be said in either order)

BONUS 20
MISCELLANEOUS-Current events

Given the head of a nation’s government, name the country.

A.
Angela (ahn-GHEH-lah) Merkel.

ANSWER: Germany
B.
Kevin Rudd.




ANSWER: Australia
C.
Hosni Mubarak.



ANSWER: Egypt
D.
Evo Morales.




ANSWER: Bolivia
TOSSUP 21
SCIENCE-Physics

This term was coined by Gustav Kirchhoff in 1860.  The Rayleigh-Jeans law could not describe its behavior for short wavelengths.  Planck’s law, however, does describe its spectral radiance for all wavelengths.  Name this term for an object that absorbs all electromagnetic radiation that falls onto it.

ANSWER: black body
BONUS 21
MATH-Arithmetic
THIS IS A COMPUTATION QUESTION:  Consider that Tennessee borders 8 other states; Missouri borders 8 other states, California 3, and Maine 1.  Missouri and Tennessee both border Kentucky and Arkansas and they border each other.  Now if you pick any U.S. state at random what is the probability that:

A.
It borders Missouri?


ANSWER:  8/50  or  4/25  or  16%
B.
It borders Missouri and Tennessee?


ANSWER:  2/50  or  1/25  or  4%
C.
It borders California, Maine, or Missouri?


ANSWER:  12/50  or  6/25  or  24%
D.
It borders Missouri or Tennessee? (remember they share two states and border each other.)


ANSWER:  13/50  or  26%

TOSSUP 22
LANGUAGE ARTS-Foreign language

Most words in this language subfamily are formed from three-consonant stems, such as “k-t-b” for “write” or “written stuff” – different parts of speech are marked by different vowels. It is the easternmost branch of the Afro-Asiatic language family; languages in it include Amharic and Maltese. What language family includes Hebrew and Arabic? 

ANSWER: Semitic language family

BONUS 22
LITERATURE-US literature 

Given a pen name from American literature, give the actual name of the author that used it.

A.
Richard Bachman

ANSWER: Stephen King
B.
Diedrich Knickerbocker
ANSWER: Washington Irving
C.
Dr. Seuss


ANSWER: Theodore Geisel
D.
Mark Twain


ANSWER: Saumel Langhorne Clemens

TOSSUP 23
SCIENCE-Chemistry

It is equal to the Boltzmann constant times Avogadro’s number. It is used in the Lorentz-Lorenz formula and the Nernst equation.  Name this physical constant whose value is equal to 1.987 calories per Kelvin per mole or 8.314472 joules per Kelvin per mole and whose symbol is R.

ANSWER: gas constant (also accept universal gas constant or ideal gas constant)

BONUS 23
SOCIAL STUDIES-US history

Identify these Supreme Court cases.
A.
In this 1856 ruling, the Court ruled Congress had no power to prohibit slavery in the territories.


ANSWER: Dred Scott decision or Scott v. Sanford
B.
In this 1824 decision, the Court ruled that the commerce clause gave Congress the power to regulate interstate navigation.


ANSWER: Gibbons v. Ogden
C.
The defending state in this 1819 decision was prevented from levying a tax on the Bank of the United States.


ANSWER: McCulloch v. Maryland
D.
This case led to the Eleventh Amendment being ratified, largely removing federal jurisdiction when a state gets sued. 


ANSWER: Chisholm v. Georgia
TOSSUP 24
LITERATURE-US literature

He wrote the sonnet ‘The Evening Star’ about his wife, the former Fanny Appleton. He wrote about Acadian history in Evangeline. He wrote about the lover of Minnehaha in The Song of Hiawatha. Who wrote, ‘Hang a lantern aloft in the belfry arch / Of the North Church tower as a signal light,’ in ‘The Midnight Ride of Paul Revere?’

ANSWER: Henry Wadsworth Longfellow
BONUS 24
SCIENCE-Chemistry

Answer these questions about acids and bases:

A.
Which acid-base theory defines bases as substances that accept protons in solution?

ANSWER:
Bronsted-Lowry theory

B.
What is the formula for the conjugate acid of ammonia?

ANSWER:
NH4+ [prompt on "ammonium"]

C.
What term describes acids, such as nitric acid, that are completely deprotonated in aqueous solution?

ANSWER:
strong
D.
In what type of reaction does an acid react with a base to form a substance intermediate in pH?

ANSWER:
neutralization [accept word forms]

TOSSUP 25
SOCIAL STUDIES-World history

He negotiated the Treaty of Angoulême (awn-goo-LEM) with Marie de Médicis (may-dee-SEE), whom he later exiled. He entered the Thirty Years’ War on the side of Protestant Sweden, and at the Siege of La Rochelle defeated rebellious Huguenots. Cardinal Jules Mazarin (mah-zah-RAN) was the successor to what church leader that was the chief advisor to Louis XIII?


ANSWER: Cardinal Armand Jean du Plessis de Richelieu (rih-sheh-LOO)

BONUS 25
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION:  Scientific notation…

A.
At aphelion the earth is 94.5 million miles from the sun.  How many miles is this in scientific notation?


ANSWER:  9.45x107 miles

B.
At perihelion the earth is 91.4 million miles from the sun.  Find the difference between aphelion and perihelion in scientific notation.


ANSWER:  3.1x106 miles

C.
The circumference of the earth is 2.49 x 104 miles at the equator and 2.486 x 104 miles at the poles.  Find this difference, again in scientific notation.


ANSWER:  4.0x10 miles (accept 4.0x101 or even 4x10)

D.
The earth orbits the sun at 1800 kilometers per minute.  Change this to meters per hour and give your answer in scientific notation.


ANSWER:  1.08 x 108  meters per hour

HALFTIME
Third period: 15 toss-ups
TOSSUP 26
SCIENCE-Biology

Its inner posterior side lies against Bruch’s membrane and it consists of the pars plana, choroid, ciliary body, and iris.  It functions in nutrition, gas exchange, and light absorption, and is located between the fibrous tunic and the retina.  Name this pigmented middle layer of the eye that is also known as the vascular tunic. 

ANSWER: uvea
TOSSUP 27
MISCELLANEOUS-Industrial arts

What common tool has varieties that include the splitting maul, the gavel, the claw, the ball-peen, and the sledge?


ANSWER: hammer(s)

TOSSUP 28
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. What is the greatest common factor of 90 and 420, given that the prime factorization of 90 is 2, 3, 3, 5 and the prime factorization of 420 is 2, 2, 3, 5, 7?

ANSWER: 30
TOSSUP 29
LITERATURE-US literature

She wrote her autobiography Save Me the Waltz during her 18 years of being in mental institutions. She thought her husband was having an affair with Ernest Hemingway, a sign of the jealousy she felt after This Side of Paradise was published. Who was called the ‘First American Flapper’ by her husband, F. Scott Fitzgerald?

ANSWER: Zelda Sayre or Zelda Fitzgerald (prompt on partial answer)

TOSSUP 30
LANGUAGE ARTS-Vocabulary

It is a relative of the iris with sword-shaped leaves; examples include the Blue and Purple. It is also a verb that means ‘to wane’ or ‘to droop,’ but it can also be a verb that means ‘to signal someone.’ It usually refers to an object; the biggest one of them in the world is in Brasilia’s Square of the Three Powers. What is a piece of cloth used to symbolize something, most often a nation? 

ANSWER: flag
TOSSUP 31
SOCIAL STUDIES-World history

The first of these occurred in 1419, and involved a Hussite mob killing city councilmen. The second of these occurred in 1618 after the election of the Catholic Ferdinand II as king, and it was a cause of the Thirty Years’ War. What events, set in the capital of Bohemia, involved pushing disliked people out a window? 


ANSWER: Defenestration of Prague (accept Prague Defenestration)

TOSSUP 32
LITERATURE-World literature

The title character of this poem stays too long at a pub in Ayr (air) and comes across a witches’ dance at Alloway Kirk. One witch, Nannie, is wearing a tight shirt. He escapes the witches, but his mare, Meg, loses her tail. What poem by Robert Burns is the namesake of a wool hat which is associated with Scotland and has a pompon on the top? 

ANSWER: “Tam o’ Shanter”

TOSSUP 33
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. If A equals 3, B equals 6, etc., through Z equals 78, what is the numerical value of F times Y times B, given that F equals 18, Y equals 75, and B equals 6?

ANSWER: 8100
TOSSUP 34
SCIENCE-Chemistry 

THIS IS A COMPUTATION QUESTION. What is the molar mass of caffeine, given that its molecular formula is C8H10N4O2 and that carbon’s atomic mass is 12, hydrogen’s atomic mass is 1, nitrogen’s atomic mass is 14, and oxygen’s atomic mass is 16?

ANSWER: 194
TOSSUP 35
FINE ARTS-Opera

His productive ‘galley years’ included the operas I Lombardi and Ernani, and he flouted convention by not adding a love story to his Macbeth. His last operas were also adopted from Shakepeare: Otello and Falstaff. What Italian also wrote the operas Rigoletto, La Traviata, and Aida? 

ANSWER: Giuseppe Verdi
TOSSUP 36
LITERATURE-Religion

The title character prophesied to Uzziah, Jotham, Ahaz, and Hezekiah. Chapters 24 through 34 of this Bible book are about the Messiah. Modern scholarship holds that three people wrote its 66 chapters. What Bible book contains four songs of the ‘Suffering Servant’ and is located in the Christian Bible between Song of Songs and Jeremiah? 

ANSWER: Isaiah
TOSSUP 37
SCIENCE-Biology

Consisting of the Taxidiinae (tak-sih-dih-NYE), Mellivorinae (mel-lee-vor-ih-NYE), and Melinae (meh-lih-NYE) subfamilies of the Mustelidae (moo-STEL-lih-dye) family, they are closely related to ferrets, weasels, and otters.  Their main types are known as Eurasian, American, and Ratel.  Name this carnivorous mammal.

ANSWER: badger
TOSSUP 38
SOCIAL STUDIES-Geography

Its suburbs include Gastonia, Carrabus, and Rock Hill. It is the fastest-growing city on the East Coast due to its large number of Fortune 500 companies, including Family Dollar, Nucor, Duke Energy, Wachovia, and Bank of America. What ‘Queen City’ is located in Mecklenberg County, North Carolina, and is the largest city in that state? 


ANSWER: Charlotte, North Carolina

TOSSUP 39
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. What is the third pentagonal number?

ANSWER: 12
TOSSUP 40
SOCIAL STUDIES-World history

It started when George Carmack discovered gold in Rabbit Creek, and caused Dawson City to increase in population to 40,000. Those seeking to participate in it had to have a year’s worth of food, or the Mounties made them leave Canada. What gold rush led thousands to go up to the Yukon Territory in the late 1890s? 


ANSWER: Klondike gold rush or Yukon gold rush

Fourth period: 10 toss-ups with 4-part bonuses
TOSSUP 41
LITERATURE-US literature

Before this novel began, Buck was sailing with his brother on Lake Michigan, but died in a sudden storm. Buck’s brother, Conrad, attempts suicide. While Conrad’s dad, Calvin, copes, his mother, Beth, cannot. What novel by Judith Guest is about the Jarrett family’s breakup and was made into a movie that won 1980’s Best Picture Oscar? 

ANSWER: Ordinary People
BONUS 41
SOCIAL STUDIES-Geography
Name the sea of Europe given a list of countries or land masses that it lies between.

A. 
Between Finland and Sweden


ANSWER: Baltic Sea

B. 
Between the Italian peninsula and the Baltic peninsula


ANSWER: Adriatic Sea

C. 
Between the southern coast of Ireland and south eastern coast of England


ANSWER: Celtic Sea

D. 
Between England and Denmark


ANSWER: North Sea

TOSSUP 42
MATH-Algebra

THIS IS A COMPUTATION QUESTION. Solve for x.  16x plus 24 equals 5x minus 9.

ANSWER: x equals -3
BONUS 42
SCIENCE-Earth science

Name these biomes:

A.
The Eastern half of the US is dominated by this type of forest, with warm summers, cold to moderate summers, and year-round precipitation.

ANSWER:
temperate forest

B.
The major biome of northern Canada is this one characterized by permafrost.

ANSWER:
tundra
C.
This type of biome, which may be polar, is characterized byh an annual precipitation of less than 25 centimeters.

ANSWER:
desert
D.
This biome found in Africa is wetter than a desert, but drier than a tropical forest.

ANSWER:
(tropical) savanna
TOSSUP 43
SOCIAL STUDIES-US history

In 1945, it was established as a full committee, with Edward Hart as chairman. It was abolished in 1975, and its remaining functions were transferred to the Judiciary Committee. Investigating potential Communist subversion against the United States was the task of what committee of the House of Representatives? 


ANSWER: House Un-American Activities Committee or HUAC
BONUS 43
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. Consider the number 13. Now:

A.
What is that number cubed?



ANSWER: 2,197
B.
What are the next three prime numbers after 13?

ANSWER: 17, 19, and 23 (can be said in any order)

C.
What is 2 to the 13th power?


ANSWER: 8,192
D.
In binary, what is 13 multiplied by 12?


ANSWER: 1001 1100
TOSSUP 44
FINE ARTS-Audio fine arts

The most recognizable music of this work is the seventh section’s variations on the Shaker tune “Simple Gifts.” The title is a bit misleading, as it is set in Pennsylvania and not the mountains of West Virginia. It was originally called Ballet for Martha. The Bride, her farmer husband, and a revivalist preacher are the characters in what work by Aaron Copland? 

ANSWER: Appalachian Spring
BONUS 44
LANGUAGE ARTS-Vocabulary

Identify these three-letter words.
A.
This word describes a replaceable drill head or the mouthpiece of a horse’s bridle.


ANSWER: bit
B.
This word describes income after deductions, such as taxes.


ANSWER: net
C.
This word is a British word meaning ‘argument’ and is also an arrangement of objects in a straight line. 


ANSWER: row (accept either pronunciation) 
D.
This word describes a hasty escape, especially one from the police.


ANSWER: lam
TOSSUP 45
SOCIAL STUDIES-Psychology

Noam Chomsky criticized this psychological school, pioneered by John Watson and Ivan Pavlov, for its inability to explain how children learn language. One of its concepts was a ‘box,’ where rats got food if they pressed a bar, created by B.F. Skinner. What psychological school explains human actions in terms of what people have learned? 

ANSWER: behaviorism
BONUS 45
MISCELLANEOUS-Pop culture

Answer the following about the comic event of 2006… The Marvel Civil War.

A. 
At the heart of the war was this piece of Legislation.


ANSWER: Superhuman Registration Act

B. 
The leader of the pro Registration side was this Billionaire super hero.


ANSWER: Iron Man or Tony Stark
C. 
The leader of the opposition was this Super hero who was killed before standing trial.


ANSWER: Captain America or Steve Rodgers
D. 
At a press conference this super hero unmasked quickly prompting him to get fired from his day job.


ANSWER: Spider-Man or Peter Parker

TOSSUP 46
MATH-Geometry

THIS IS A COMPUTATION QUESTION. What is the slope of the line 5x plus 8y equals 26?

ANSWER: -5/8
BONUS 46
SCIENCE-Biology

Your body has multiple ways of fighting off infection.

A.
This enzyme, found in mucus and saliva, can destroy the cell walls of many bacteria.

ANSWER:
lysozyme [LYE-soh-zyme]

B.
These immune cells can engulf bacteria and destroy them.

ANSWER:
phagocytes [FAY-goh-sytes]

C.
These free-floating molecules can trigger an immune response if they bind to a target molecule.

ANSWER:
antibodies or immunoglobulins

D.
Mast cells produce these substances when antigens bind to them. Unfortunately, in some cases, this leads to allergic reactions.

ANSWER:
histamine(s)

TOSSUP 47
LITERATURE-World literature 

He married Rosie Cotton, who died in year 62 of the Fourth Age. He sailed over the Western Sea after serving seven terms as Mayor of the Shire. After his master was attacked by the spider-demon Shelob, he took the One Ring and tried to complete the quest. What Hobbit accompanied Frodo Baggins to Mount Doom? 

ANSWER: Samwise Gamgee

BONUS 47
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. Consider the number 568. Now:

A.
What is the remainder when this number is divided by 9?


ANSWER: one
B.
What is this number in Roman numerals?


ANSWER: DLXVIII
C.
What are its prime factors?


ANSWER: 2, 2, 2, 71 (can be said in any order, accept 2 cubed in place of the three 2s)
D.
What is this number multiplied by 21?


ANSWER: 11,928
TOSSUP 48
SCIENCE-Chemistry

It was discovered by William Ramsay in 1898 by evaporating the other components of liquid air. It was combined with fluoride in 1962. Its atomic mass is 83.8 and the meter used to be defined in terms of the orange-red spectral line of its mass number 86 isotope.  Name this noble gas with atomic number 36 and symbol Kr.

ANSWER: krypton
BONUS 48
LITERATURE-US literature

Given a character, name the Hemingway novel in which he/she appears.

A.
Santiago

ANSWER: The Old Man and the Sea
B.
Robert Jordan

ANSWER: For Whom the Bell Tolls

C.
Catherine Barkley
ANSWER: A Farewell to Arms

D.
Thomas Hudson
ANSWER: Islands in the Steam

TOSSUP 49
MISCELLANEOUS-Current events

Though Dominica and Grenada have renounced their recognition of this nation in recent years, this island still maintains full diplomatic relations with 25 other nations.  The party that founded the government on this island, the Kuomintang, still considers itself the legitimate government on the mainland, located across the Strait of Formosa. What is this rival to the People’s Republic of China?

ANSWER: Taiwan or Republic of China or ROC (Do not accept or prompt on ‘China’ or ‘People's Republic of China’)

BONUS 49
SOCIAL STUDIES-US history

Identify these states based on the date of their admission to the US.

A.
January 6, 1912.

ANSWER: New Mexico
B.
January 4, 1896.

ANSWER: Utah
C.
July 10, 1890.


ANSWER: Wyoming
D.
November 11, 1907.

ANSWER: Oklahoma
TOSSUP 50
SCIENCE-Environmental science

The name of this biome comes from a Sami (SAH-mee) word meaning ‘treeless mountain tract.’ Some of it is in Tibet, far away from where it is usually found. Most of it is found above the taiga biome and its permafrost prevents anything bigger than shrubs from growing. What biome is located around the North and South Poles? 


ANSWER: tundra
BONUS 50
LITERATURE-World literature

Answer these questions by Scandinavian authors and their works.

A.
Nora leaves Torvald after eight years of marriage in this Henrik Ibsen play.

ANSWER: A Doll’s House

B.
Out of Africa is a work by this Danish author.

ANSWER: Isak Dinesen
C.
The Wonderful Adventures of Nils is a well-known work by this 1909 Nobel laureate from Sweden.

ANSWER: Selma Lagerlof

D.
In this Ibsen play, the title character’s last name is actually Tesman

ANSWER: Hedda Gabler

END OF MATCH

Spare questions
TOSSUP 51
LANGUAGE ARTS-Grammar

What common error occurs when a comma is used without a conjunction to join two independent clauses?

ANSWER: comma splice (do not accept run-on sentence)

BONUS 51
SOCIAL STUDIES-Civics
Given a branch of the military and a pay grade, name the rank.

A.
Army, E-5.

ANSWER: Sergeant
B.
Air Force, O-4.
ANSWER: Major
C.
Navy, E-6.

ANSWER: Petty Officer First Class (accept First Petty Officer, prompt on ‘Petty Officer’)

D.
Marines, E-3.

ANSWER: Lance Corporal
TOSSUP 52
MISCELLANEOUS-Pop culture

In 2007, this movie studio sold its music publishing arm, Famous Music, for $370 million. Its Home Entertainment division sells its own DVDs as well as DVDs for MTV and Nickelodeon. In February 2006, it purchased part of DreamWorks SKG. Its logo, which consists of a mountain surrounded by a half-circle of stars, has been around since the 1920s. What Viacom-owned movie studio is associated with Kings Dominion? 


ANSWER: Paramount Pictures

BONUS 52
LITERATURE-World literature

Name these Japanese authors from clues. (Note: accept these names in either order)

A.
This ancient Japanese author penned the world’s first novel, The Tale of Genji.

ANSWER: Murasaki Shikibu (either name)

B.
The Silent Cry and A Personal Matter are among the works by this 1994 Nobel laureate.

ANSWER: Kenzaburo Oe

C.
This Japanese author penned the Sea of Fertility tetralogy in the six years prior to his 1970 suicide.

ANSWER: Yukio Mishima, or Kimitake Hiraoka

D.
The Master of Go and Thousand Cranes are works by this Japanese author and 1968 Nobel laureate.

ANSWER: Yasunari Kawabata

TOSSUP 53
MATH-Computer science

To implement, you first pick a random number in the list that is called the pivot. Re-ordering is then done, so that all elements smaller come before the pivot, and large come after. Recursion is then used to finish sorting the list of data. Name this speedy sorting algorithm.

ANSWER: Quicksort
BONUS 53
FINE ARTS-20th century music
Name the composers of the following.

A.
Rhapsody in Blue.



ANSWER: George Gershwin
B.
The Maple Leaf Rag.



ANSWER: Scott Joplin
C.
‘Oh! Susanna!’



ANSWER: Stephen Foster
D.
‘There’s No Business Like Show Business.’
ANSWER: Irving Berlin
TOSSUP 54
SOCIAL STUDIES-US history 

The Labor Standard, a Socialist newspaper, proclaimed that James McParlan was an agent provocateur against this group. Many members were also part of the Ancient Order of Hibernians. What group was allegedly responsible for dozens of murders in central Pennsylvania during the mid-1870s? 


ANSWER: Molly Maguires
BONUS 54
MATH-Algebra

THIS IS A COMPUTATION QUESTION:  Consider the two matrices A and B.  A is a 2 by 2 matrix with first row of 5 and 4 and second row of 2 and 3.  B is a 2 by 3 matrix with first row of 1, 5, and 0; and second row of 0, 0, and 3.  Now:

A.
What element is in row 1 and column 2 of B?


ANSWER:  5
B.
Find the value of the determinant of A.


ANSWER:  7
C.
Find the product of A and B and give your answer as a matrix.


ANSWER:  the matrix with first row 5, 25, 12 and second row 2, 10, 9 (or similar wording.)

D.
Find the inverse of A and give your answer as a matrix.


ANSWER:  the matrix with first row 3/7, -4/7 and second row -2/7, 5/7 (or similar wording)

TOSSUP 55
LITERATURE-World literature

Based on the real-life criminal Ikey Solomon, he was the teacher of Bill Sykes. His creator removed references to his Jewishness in later editions and later created a favorable Jew, Mr. Riah, in Our Mutual Friend. The Artful Dodger was a student of what man that trained children to become criminals in Charles Dickens’ Oliver Twist? 

ANSWER: Fagin
BONUS 55
LANGUAGE ARTS-Typography
Answer these questions about fonts.
A.
What font was the standard for Microsoft Office products until Office 2007?

ANSWER: Times New Roman
B.
What font replaced Times New Roman in Office products?

ANSWER: Calibri
C.
What is the name of the small outcrops at the bottom of the capital letter ‘A’ and the left of the capital letter ‘B’? 

ANSWER: serif(s)
D.
What font was nearly called ‘Messenger’ and was designed to imitate the look of a typewriter?

ANSWER: Courier New

TOSSUP 56
SCIENCE-Biology

Its name comes from being considered less severe than syphilis. Caused by the Variola virus, it killed Anne of Cleves, but Joseph Stalin and Abraham Lincoln survived it.  It currently exists only in the stocks of the CDC and a Russian center, but U.S. troops are still vaccinated against it.  Name this disease that was declared eradicated in 1977.

ANSWER: smallpox
BONUS 56
MISCELLANEOUS-Classic pop culture

Identify these classic comic book heroes. 

A.
Lamont Cranston is what hero that ‘knows what evil that lurks in the hearts of men?’


ANSWER: The Shadow
B.
Steve Rogers was the secret identity of what superhero that first appeared in March 1941?


ANSWER: Captain America
C.
What was the nickname of Forsythe Pendleton Jones III, a student at Riverdale High and friend of Archie Andrews?

ANSWER: Jughead
D.
What is the villanic identity of Dr. Pamela Lillian Isley?

ANSWER: Poison Ivy
TOSSUP 57
FINE ARTS-Visual fine arts

This painting was analyzed in the Leo Steinberg essay ‘The Philsophical Brothel.’ It portrays five women, and the woman standing on the right appears to be wearing an African tribal mask, and the figure seated on the right has her face painted in nearly a Cubist style. What is this Pablo Picasso painting? 


ANSWER: Les Demoiselles d’Avignon (lay deh-mwah-zel dah-veen-yohn) or The Young Ladies of Avignon
BONUS 57
SCIENCE-Chemistry

How many hydrogen atoms are there in a molecule of . . .

A.
Phosphoric acid?

ANSWER:
3 [accept H3PO4]

B.
Propane?

ANSWER:
8 [accept C3H8]

C.
Acetic acid?

ANSWER:
4 [accept CH3COOH or C2H4O2]

D.
Lithium aluminum hydride?

ANSWER:
4 [accept LiAlH4]
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